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avh)-MED Y 3emlAF ARMEHEE 2.3 2.3 m2
5 sy #ERCosk Rl EETEE 0.07 0.07 | m3
IEN $16x110 ARMEHEESE 66.0 66 fl
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(a) LEHFST

No | ) s | e |

1 550 600 60 0.0198 S2F

2 550 800 60 0.0264 | #FAEEH
3 400 200 60 0.0048 | #AEH
4 550 200 60 0.0066 | #xAAEEH
5 300 150 60 0.0027 | #MEH
6 250 150 60 0.0023 | #MEH
7 550 400 60 00132 | #MmEH
8 550 900 60 0.0297 | #MEH
9 550 500 60 0.0165 SF
10 550 1200 60 0.0396 | #AAEH
11 200 100 50 0.0010 SF

12 100 300 50 0.0015 | Mg
13 200 700 30 0.0042 S2F

14 300 900 50 00135 | #MEH
15 200 700 50 0.0070 SF
16 200 900 50 0.0090 | A
17 200 600 30 0.0036 S2F
18 200 200 250 0.0100 | #AAZEEH
19 400 250 50 0.0050 | #AAEEH
20 200 550 60 0.0066 2F

21 100 400 250 0.0100 | #AEH
22 100 1200 250 0.0300 | #AAEEH
23 200 200 250 0.0100 | #AEH
24 450 180 250 0.0203 | #kAHEEH
25 450 180 250 0.0203 | #xFFEH
26 100 300 60 0.0018 2F
27 100 150 60 0.0009 | #&HFTEH
28 100 350 250 0.0088 | £/ E‘E
29 100 400 250 0.0100 | #&FHFE
30 450 180 250 0.0203 | A E‘E
31 450 180 250 0.0203 | #xFFEH
32 200 150 30 0.0009 2F
33 150 300 30 0.0014 SF
34 300 6500 50 0.0975 | & E‘E
35 150 1750 30 0.0079 | &MFE
36 200 550 30 0.0033 | &/ E‘E
37 150 550 30 0.0025 | #&HHFT|EH
38 100 2700 30 0.0081 2F
39 300 550 30 0.0050 S>F
40 550 7570 60 0.2498 | #FEH
41 120 1200 250 0.0360 | EILZILITER




No | o) s | B | W
42 120 1200 250 0.0360 | EJLAILITER
43 120 1200 250 0.0360 [ E/LAILITER
44 120 1200 250 0.0360 | EJLZILITER
~ , 0.1440 | FhEFALIR &
- i 0.7521 | BHsEIMER
(b) FHEBL
No | o) s oy | B | W
45 200 250 200 0.0100 | BFEXIE
46 200 700 70 0.0098 | #AEH
47 150 1200 70 0.0126 5&
48 220 750 100 0.0165 | HrEXRIE
49 100 100 200 0.0020 | BFEXIE
50 150 400 70 0.0042 | #FMEH
~ , 0.0285 | FH&HALIR R
- i 0.0266 | FHsER
(c) Bt
No | o) s ! EATE | ) L
51 50 150 30 3 0.0006 | #&FAEEH
52 100 100 30 1 0.0003 | #AEH
53 50 150 30 4 0.0008 | #&FAEEH
54 250 100 30 1 0.0008 | A
55 50 150 30 4 0.0008 | #&FAEELH
56 100 100 30 1 0.0003 | #AEH
57 50 150 30 2 0.0004 | A
58 100 100 30 1 0.0003 | #AEH
59 100 100 30 1 0.0003 | #MEH
60 150 100 30 1 0.0005 | A
61 50 150 30 1 0.0002 | #FEH
62 50 150 30 2 0.0004 | #AEH
63 50 150 30 1 0.0002 | #FAEH
64 50 150 30 3 0.0006 | KA
65 50 150 30 1 0.0002 | #FEH
66 100 150 30 2 0.0010 | SkAAZEH
67 100 100 30 1 0.0003 | &ML
~ , 0.0000 | FhéHALER &
- i 00080 | BH&EIMER
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2) N
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X 8} X 2X0.005 =

3) Ui

V="{((0.57-0. 1) X2+40. 141 X2+7.3) X0. 15+ (0. 28 X 2+0. 141 X2+
0.5+0.7) X0.15X8} X2X0. 005 —
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0.022m3

0.037m3

0.110m3
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A= 3.0X4.4X2 = 26. 4m2
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V= 26.4X0.05 = 1.3m3
29 (t=3cm)

A= (7.37+4.23) X2X0.03 = 0.7m?2
WALy (B Coik)

V= 0.7X0.03 = 0.02m3
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A= 7.37X4.1 = 30. 2m2
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Bolt W3/8 32 8

Nut W3/8 3
Washa W3/8 16

Anc M10 80 8

HKBIL (=y 77 mn—hHoX)
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HEFHE
BRMEET

300

30Q

HT T EE

- BrEfEfE T
(a) E#T

No | o) s | o | W

1 400 530 50 0.0106 >F

2 150 200 50 0.0015 | #MEH
3 100 100 50 0.0005 | #&AAEEH
4 150 200 50 0.0015 | #MEH
5 100 100 50 0.0005 | #&FAEEH
6 150 200 50 0.0015 | #MEH
7 300 6000 50 0.0900 | #FAEEH
8 100 1100 50 0.0055 SF

9 100 900 50 0.0045 | #&FAEEH
10 100 400 50 0.0020 | #AEH
11 100 450 50 0.0023 | #FEH
12 50 50 50 0.0001 | #AEH
13 50 50 50 0.0001 | &M
14 150 100 50 0.0008 | #AAEEH
15 150 100 50 0.0008 | #&FAEEH
16 150 100 50 0.0008 | #AAEEH
17 150 100 50 0.0008 | #&AAEEH




No | o) s | e | W

18 150 100 50 0.0008 | #&AAEEH

19 200 350 50 0.0035 | =L

20 200 3000 50 0.0300 | #AAEEH

21 200 250 50 0.0025 | #AEH

22 200 350 20 0.0014 | BFEXIE

23 100 300 50 0.0015 S2F

24 370 7185 5 00133 [ BMEH

25 370 7185 5 00133 | BMEL
N . 0.0280 | [f4H AL B 5%
= : 0.1621 | FHEFMIEH
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No | wB | BE || ared | sBkem) | WEHG | B %
0.2 400 100.0 0.000008 1150 0.011 | EAM(RREI5%)
30.0 400 20 0.000024 1700 0.056 | »—#(EREM)
0.2 400 100.0 0.000008 1150 0.011 | EAM(RREI5%)
30.0 400 20 0.000024 1700 0.056 | »—#(EREM)
0.2 400 100.0 0.000008 1150 0.011 | EAM(RREI5%)
30.0 400 20 0.000024 1700 0.056 | —#(EREIM)
N 5 1200 - 0.000024 - 0.033 EAM
1200 - 0.000072 - 0.168 | >—)L#
EAER
XL= = 1.2m
e
W= = 0. 033kg
2W2=0.02X1.2-+0.3 = 0. 080kg
= 0. 113kg
—VEF
XW= = 0. 168kg
REE AR R
N=1.2=0.3 = A{E
< KGIY T
L= 7.185X2 = 14. 4m
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FOE (FEmsEs) (OB IR (13), t=30mm)
A= (3.35+5.49) X1/2X6.9
FOE (BLETYMHTE)  (SE TR 13), t=50mm)
A= 3.72X3.04+5.92X3.0
SAERRGIET (t=50mm)
L= 3.72+5.92
SRR (t=50mm)
A= 3.72X3.0+5.92X3.0
Ly (Asi)
V= 28.9X0.05
X210 (t=3cm)
A= 0.03X (6. 98X 2+5. 49)
ALy (B Cok)
V= 0.6x0.03
BEREAK (7 A7 7 v NNV
A= (3.35+45.49) X1/2X6.9
K ANA T (IHENERAE ¢ 20mm)
L= 6.98X2+5.49
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L= 6.98X2+5.49+3.35
HIFL (¢ 53X 300)
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N:

30.5m2

28.9m2

9.6m

28.9m2

1.4m3

0.6m?2

0.02m3

30.5m2

19.5m

22.8m

24L

0. 7m
IR

0. 3kg

0. 89m2
1. 44m2

XA =

2.33m2

0.07m3

261
404L

XN =

6611

664K



1) Al
ALl - A= 0.03X3.33540. 06X3.335+0.06X3. 72X2 = 0. 75m2
A2fl] : A= 0.03X5.505+0. 06X 5. 505+0. 06X 5.92X2 = 1. 21m2
2) Uit i
ALl - A= 0.15X0. 06X 2 = 0. 02m2
A2fl] - A= 0.15X0. 06X 2 = 0. 02m2
A = 2. 00m2
K71
e 2 RS A HAEE| 1A ABYEBEE | B E P
(mm) (kg/m) (kg) (kg)
P1 D13 3620 1 0.995 3.60 4
P2 D13 3270 1 0.995 3.25 3
P3 D13 5820 1 0.995 5.79 6
P4 D13 5420 1 0.995 5.39 5
P5 D13 140 65 0.995 0.14 9
a &t D13 27 kg
27 J—Fh
ALl - V= 0.1X3.335X0.06+0. 15X 3. 72X0. 06 = 0. 05m3
A2fll - V= 0.1X5.505X0.0640. 15X 5.92X0. 06 = 0. 09m3
A = 0. 14m3
- PEAKZEE T
(a) HEAKE (BEEHE L E =% VU 50)
L= 0.7x4 = 2.8m
N=2.8/4.0 = IR
(b) HIFLT (¢ 65x230)
N= = 4 1L
(c) =ARZF MR REAM
W= (0.065"2—0.06"2) X 7 /4X0.23X4X1200 = 0. 54kg
(d) PEAKE S Fr W
& Bl b (mm) _— g = (kg) o —
W M E & HATERE | 1EH Y B &
L 75X 75X 6 75 4 6. 850 0.514 2 $5400
PL 75 X 4.5 349 8 2. 650 0.925 7 "
Bolt W3/8 25 16
Nut W3/8 16
Washa W3/8 32
Bolt W3/8 32 8
Nut W3/8 8
Washa W3/8 16
Anc M10 80 8

(e) BEAKHIL (=v s m—ibox)

N=

A



- it B T
(a) v—n#f
L= 3.72+5.92
W= 9.6X0.01X0.03X1400
b) Ny I T T
L= 3.72+5.92
W= 9.6X0.01X0.05X1000

= 9.6m
= 4. Okg

= 9.6m
= 4. 80



- A
IR ZIEs

6000

$60.5

$60.5

600

6060

948.6 |

1140

HES TS
L=6.0x2

Bt ($60.5, t=2.3, HEH y=3.3kg/m

$48.6, t=2.3, 2.63kg/m)

W= {3.3X (6.06+0.6X6)+2.63x1.14X5} X2,1000

2 A TR R

3320
@)
£,

TYH-%vyy7
PEEXx45
mfloas)

5520

245

ja.

WE7vH-REN + (WD)

DeeX310
(£§E§¢28)
(FAE245)

Ky #
2

200

N

HE7VH-A%N b (8D
D19X260
(FAEP24)
(F#.%200)

270

12. 0m

0. 094t



B REEAHAEE =

L= 7.185X2 = 14. 4m
gmRE (Fmx)
A= 0.3X0.5X6X2 = 1. 8m2
HIFL ¢ 24 X200
N= 2X6X2 = 2441
HIFL ¢ 28X 245
= 2X6X2 = 2441
g A 72 v DI9H
N= 2X6X2 = 24K
g A 72 D22
N= 2X6X2 = 24K
7 H— D19X260, D22X310
W1= 2.25X0.26x24,71000 = 0.014 t
W2= 3.04x0.31X24,71000 = 0.023 t
YA = 0.037 t
- HUBB LR T FmE
15 40.5
w7 h—
PG-13484 &

A
b T [
A-A
300 3320~5520 300




300

B-B

3503~5389

BECAHE s=1:10

300
100, 200 100, 200
55 190 55 Epis ®p13 5548 110,
€
(DK ‘ E~E b3 (@I
3 S = 3 | L
L\ F 8 3
g : BE g A S
| - - 1
o =] [=3
® 13 102 L] € 013 1102 i&l
H#iEH TEIL #iEH T
PG-134A24 PG-1248 2 &
Pagnal
A T X
148
[ &
N s
€ 40-013x310 ® 52-D13x310 € 12-D13x520
‘ 7100 ‘
| | |
T
4-D13x 7100
‘ 540 ‘ 500
€ 1-D13x540 ® 1-D13x 500

300

I

1-D13 x 300

400

I

1-D13 x 400

C-C
| 7185
d 5 243 21@300=6300 (%gg) 4015
159
(ggg (225 (200300=6000) (235 (pog
H#AEH T4
PG-13482 ) n1a
Sy Sy Ny S, Sy Sy Ny S, S Sy D13
I | I i i i T i T i T i i i i T i T i i i i T
P P P2 P P2 P P2 P 7 P P P2 P P2 P P2 P 7 P P P2 P > 7 D13
#hEH T
PG-134834 &
) () NoOHER., ERAERYT .

®)



PARE TR OF v B 7T

1) &

Bl A= (0. 575+0. 545) X1/2X0.2+0.2X0. 1+ (0. 47-+0. 499) X1/2X0.2+0.2X%0. 1
T : A= (0.62+0.59) X1/2X0.240.2X0. 1+ (0.385+0.415) X1/2X0.240.2X0. 1

2) Ml

WM A= 0. 18X (0. 545+0. 499) +0. 28 X 6. 14
Tyl - A= 0.18 X (0.59+0. 415) +0. 28 X6. 18

Al+A2= 0.49+3.82
HIFL (¢ 16X110)
1) fm
N= 3X2X2
2) ik
N= (20X246) X

2

(¢) BHIED 7L (PG-134HY 5L)

1) i

VRl A= 0.262X7.18540. 07 X (0. 575+0. 470)
TVl A= 0.262X7.1854+0. 07 X (0. 62+0. 385)

2) ummE

Al s A= {(0.26240.28) X1/2X0.1+0.2X0. 1} X2
Tyl : A= {(0.262+0.28) X1/2X0.14+0.2X0.1} X2

3) T
VR A= 0.102X7. 185
TFef : A= 0.102X7. 185

0. 25m2
0. 24m2

Al

0. 49m2

. 91m2
.91m2

A2

. 82m2
. 31m2

>~ w = =

124L

924L

EN =

1044L

10445

1. 96m2

1. 95m2

0. 09m2
0. 09m2

0. 73m2
0. 73m2

731/

EEes

®S

(mm)

ES

BiuEE
(kg/m)

1ALHVEE

(kg)

" E

(kg)

S

F1

D13

310

40

0.995

0.31

F2

D13

310

52

0.995

0.31

F3

D13

520

0.995

052

F4

D13

7100

0.995

7.06

F5

D13

540

0.995

0.54

F6

D13

300

0.995

0.30

F7

D13

500

0.995

0.50

F8

D13

400

[ P N Y N S

0.995

0.40

& &

D13

66 kg

2y y—+

A

EFER:V="(0.26240.28) X 1/2X0.1X7.185-+0.2X0. 1X {(0. 575+0. 545) X 1/2+ (0. 47+

0.499) X 1/2}

TR 2 V="(0.262+0. 28) X 1/2X0. 1X7.185+0. 2% 0. 1 X {(0.

0.385) X1/2}

59-+0.62) X1/24 (0. 415+

5. 55m2

0. 22m3

0.21m3

Y

0.43m3



HEMHES
RExT
RS T

B E

A FL

980
980

980
980

hN

755 6100 755

7610
& A TR B F A T
2742 ) i 2742
|
(a) ALRUSE TIF
V= 0.98X1.755X2+0. 49X 4. 100 = 5.4#tm?2

(b) A1 T Ff
V= 0.98X0. 755X 2-+0. 49X 6. 100 = 4. 58 m2

V= 9. 9Hhm?2
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HEFHE
fERMET

TR
LA

L
v KOS
@



- WrEfEE T

(a) E#T
No | o) s | e | W
1 1300 1140 40 0.0593 | #MEH
2 1200 300 40 00144 | #MmEH
3 1050 200 40 0.0084 | #xFAEEH
4 800 200 40 0.0064 | #FEEH
5 1050 400 40 0.0168 | #&FAZEEH
6 950 500 40 0.0190 | #MEH
7 1050 1600 40 00672 | #FEH
8 300 300 40 0.0036 SF
9 500 1100 40 0.0220 3F
10 400 1320 40 0.0211 S>F
11 200 1490 40 00119 | #MmEH
12 600 3740 40 0.0898 | #FEH
13 19.0m*% 0.01m 0.1900 [ FREHKE
" ot 0.1900 | &% A0 38 4
0.3399 | FHERALER
(b) THERL
No | ) s | e |
14 350 100 300 0.0105 | HTEXRIE
15 700 1000 20 0.0140 2R
16 200 200 200 0.0080 | MTEXRiE
17 200 200 200 0.0080 A
18 250 650 50 0.0081 S>F
19 200 1100 50 0.0110 >F
20 300 450 200 0.0270 | HTEXRiIE
21 200 450 200 0.0180 R
R i 0.1046 | [H&HAL IR
= g 00000 | BH&EMIER
(c) A&t
yap g disis
TV=0.1900+0. 1046 = 0. 295m3
By it AL R AT
SV= = 0. 340m3
LGy
T V= 0.295+0. 340 = 0. 635m3
< JkEIY T

L= = 4.4m



MEFHE

FERWET
&
4700
{8 E
1A e B Sy A A [-150x 50 x 3. 2 x 1200 A-A A [-150 x50 x 3. 2 x 1200
H%EA [-150 x50 x 3. 2 X 150 HEA [-150 x50 x 3. 2% 150
‘ A [-150 x50 x 3. 2 x 2000 [ )
SRR ARIL b
‘ ’ W16 35
i i i i
| B —T - —] 4+
l Il I I
B-B
B T—A 2.3 x50 x 350 x 2330
|7%:<!»: ............ o "]"‘%Igl
i I
ER
[e o] [ &
kogl Lo# QL
‘ 2000 |
| E—LA
B &7 \ ) Bl 6-22 x 40E5T 6-18 x 24E 7%

2330

| o e

'rN—Qié

170 2000 160
2330

1) HEE—2A (2.3X50X350X2330)

L= = 2.3m

Wi= [ {(0.072+0.048+0.076) X 2+0. 106} X 0. 0023 X 2. 33

—+0.07X0.35X0.0045X2] X7.85 = 0.02 t

2) 4R ( [-150X50X3.2%X2000. [-150X50X3.2X150)

L= 4. Tm

Wi= (0.15-+0.05X2) X0.0032X4.7X7.85 = 0.03t

W1+Ww2= 0.02+0.03 = 0.05¢t



HET CEZEZRERL)
1) BEE—2A (2.3X50X350X2330)
a) IXEIER

L= = 2.3m
b) FREME (2.3X50X350X2330)

n= = 1
2) A
a) WEMLER

L= = 4. Tm

b) EXEMIL
« TYPE-1 ( [~150X50 X 3. 2 2000)

n= = 3
« TYPE-2 ( [-150X 50X 3.2X150)
n= = 24Z
3) 774 vk (T0X31X300)
n= = 21
4) Rk« F > (M20X145)
n= - 2R

5 Rk F v~ (MI6X35)
n= 4+2x4+38 = 204



HEHES

G an
//
T‘ l YR —‘/ HAKLT
Bl
P
<4
-
{ |
|
Al
|
|
]
I — |
| | |
A=A s=1:25 B-B s=1:25
| S|
*WME BPE

o5 N=28

2250

2300

3980

- BB - )T

+oo
N= 96+28
C-30
V= 124%0. 02
< KT
R THEK

H£150mm 2 1nEL T
N:

= 12443

= 2. 5m3

Pavins



(CPE

115 )




BRRUHA . WEEET
H =
1800
S PES
8 INEENEENNN R RN
S
I
M E S ZZ
o 4%*
8 > JLLLUW ¢
g N
Kegnygs /100
500

2] S

LO)|
877 N A N N N A Oy
S DES
BE01
BE&02
3




AR UHA - WEEET
IH B B g =R Bifi =
TR
E18 S 1.800 X 0.500 X 2 m’ 1. 800
BEM | K )tV eviy 1.800 X 0.030 m’ 0. 054
(B & AL BRAT )
/2 x (0.030 + 0.020) X 0.100
X 1.800 X 2 n’ 0. 009
0.054 +  0.009 A 3 m’ 0. 063
(o=
EAG A 1; 0.300 X  0.400 m’ 0. 120
2; 3.000 X  1.000 m’ 3. 000
3; 0.300 X  0.300 m’ 0. 090
5; 0.100 X  0.050 m’ 0. 005
A 3 m” 3.215
4; 0.010 X  0.250 m’ 0. 003
6; 0.020 X  0.250 m’ 0. 005
A 3 m” 0. 008
E1ER avy)-h 1; 0.120 X  0.470 m’ 0. 0564
2; 3.000 X 0.170 m’ 0.5100
3; 0.090 X  0.370 n’ 0.0333
5; 0.005 X  0.270 m’ 0.0014
& F m’ 0.6011
K U=t beviy 1, 0.120 X 0.030 m’ 0. 0036
(BA&HALERSE) | 25 3.000 X  0.030 m’ 0. 0900
3; 0.090 X  0.030 m’ 0. 0027
4; 0.003 X  0.300 m’ 0. 0009
5; 0.005 X  0.030 m’ 0. 0002
6; 0.005 X  0.300 m’ 0.0015
A F m’ 0. 0989
B 1; 0.300 X  0.400 m’ 0. 120
2; 3.000 X  1.000 m’ 3. 000
3; 0.300 X  0.300 m’ 0. 090
5; 0.100 X  0.050 m’ 0. 005
A3 m” 3.215
ALY 0.063 +  0.099 m’ 0.162




BARUVMA . REERI

FcEERT

(FUWBEF B U LR)

2500

(D ®2)

4.500 X 0.250 kg/mi X 1.10

2

B TR o

H H B = = =R v =
=345
T LB AN Sl RN 2.500 X 1.800 m’ 4. 500
kg 1.2
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a.

1R

&R B U

(|
B+

Al

Il

#

o>

B

N N N N
N A A A

tTns5

1%

15
+oH T

24
0.5

R

0.02

24

C-30




